1.

th2 1383 Zo] /B = 90° ¢l AABC o|A AD =
5cm , BD = 3em ¢ W, BC 9] Zo]&=?

24/23 323 334
4371 ’ ’
3 18

5




2.

ot 23} o] /B = 90° ¢l A7zt ABC o4 DE” + AC. =
3V3 Q W, AE” + DC” 9] ghe?

A

@ V21 @ 23 ® 5 @ 33 ® V29



3. & 1% Azt ABCD |5 AP = V6, BP =3, CP = V5 ¢
o], DP ¢ Zo]=?

A D

D V2 @ V3 ® 23 @ 32 ® 8



the I3} Zo] AZM7EY ABC o Al WS 2t A Eo 7 SH=
ko]l Wol= g, . 8, , S32FHAE S = 10mem? , S5 = 15mcm? ¥
o, §3 o] gk2 st

A
Q

Sa



@1 @ V2 ® 2 @ 22 ® 4



8, R =16r 4 o,

F2F BC

5

., Q. R ozt

Hol2 77} p




@ BE = Vb2 -a2 © (BAE = /CFE
® AAEF = AADF ® CE=CF =DF

® CF:CE =AB:BE

@® 9,0 CEONE)
® Q90,6 ®© 6,6

® ©, e




9

o, a+b 9] 7k

()]
=

1017} 15 91 Atz o] Ed7t a Vb

@ 18 3 32 @ 36 ® 44

D 15



9. ke 79| 2424 ABCD o4 BE o] Aol g 751%?

A D




10. ohg 2 T 7o) A Qs ),
AD ©] ol 579

O V23 @ 33 ® V31
@ 38 ® 35




11. tjZ-Ae] Zol7} 15 e1x]el LeD RUE S elstact. muF st
el sk, A2 u7b4a: 3 o, R st A2l olg

dstodat.



a
= o ar
mﬂqu
O o ™
AT T
=B
Pwy
wuuLJD
<= |
"o
or —
_%Huaa

-

YA
N £
o ~ .
xR M
o o A
g v
ol - N
a

1o} Fstofer.

g




o2 oA §Ex]E2] Zo]7t 6em 91 ¥ O
Ol E41E 6 5&ot= 82 22 A, B, C, D, E,
F 2} gteh, o] of, At FEo] go]& 5}
H? (A HEL AAOB + AFOE + ACOD

® 243 cm? @ 123 cm?
@ 12cm? @ 273 cm?
® 183 cm?




7} Zro]l /B =90°, AB =6, AC

5
=

a1

O
=

14. o

I



15.

712, Alzel 2ol 27t s, 6 Q) AAHY
ste] e o, EF 9 dol& F5toi=h




